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EEER T =X 1.0 1.0
N HEMAF Y m2 391.6 392.0
TA7 7 MEHEE T X 1.0 1.0
e FAEZERIFETAT VY t=4cm m2 391.6 | 392.0
X JH R T 2V 1.0 1.0
X L = 1.0 1.0
VA X R FH - 3CF - 5, We15emif m 44. 2 44.0
b4 T = 1.0 1.0
i L X 1.0 1.0
a T = 1.0 1.0
HEE T X 1.0 1.0
Sy E L T = 1.0 1.0
SR DT TAT 7V MEREERR t=4cm m 10.0 10. 0
Bl R AR TAT7VMERSERR t=4cm m2 391.6 392.0
TEHR LB T =X 1.0 1.0
V) 7K EE: /Y A AL 15VE (AsElZENR GIWrK) m3 0.01 0.01
Bl /s A Gy AsHli m3 15.7 16. 0
RE% T = 1.0 1.0
BT X 1.0 1.0
AIE R B R E AR B B K 1.0 1.0
gtk (25T 6-157541] X 1.0 1.0
E¥+T X 1.0 1.0
EE LT =X 1.0 1.0
R m3 44.7 45.0
HEL BEI79vr-77, RC40-0 m3 40. 4 40. 0
B AL T 2V 1.0 1.0
5% AR T = 1.0 1.0
b B4+ m3 44.7 45.0
PoKHEIEY T = 1.0 1.0
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T 2 X T 77, W=45cm m 2.2 2.0
Al X F2H%, W=15cm m 6.0 6.0
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BT E L B RIWFE A E B X 1.0 1.0
ahiL [375 ] X 1.0 1.0
(LR =X 1.0 1.0
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1 SEF [REERKS-145#] 1 S [RE#EK6-14514]
B [No.1-6.464 (BP) 5.00
= [No.l 6.464 5.00 323 323 O ArAXER
B |No.1 5.00 - RERER [20] (KED - XF - i©£5,%,w=0.15)
Z£ [No.2 20.0 5.00 100.0 100.0 = 442 m
B [No.2 5.00
= [No.3 20.0 5.00 100.0 100.0
B [No.3 5.00
= |No4 20.0 5.00 100.0 100.0
B [No.4 5.00
Z |No.4+11.861 (EP) 11.9 5.00 50.3 59.3
SHEEE Et 391.6 391.6 t=4cm
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8 [No.0 (BP) 8.83
= |No.0+2.121 2.121 5.00 14.7 14.7 O ArAXER
B |No.0+2.121 5.00 @ KEN(EHD - XF - 25,8 w=0.15)
= |No.l 17.879 5.00 89.4 89.4 7.9+79= 158 m
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B [No.2 5.00 05+0.9+05+09= 28 m
% |No.3 20.000 5.00 100.0 100.0
A [No.3 5.00 CELER (77,8, w=0.45)
% |No.3+13.811 13.811 5.00 69.1 69.1 22 m
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N0.1+5.197~No0.2 14803 | 1.05 | 1554 | 0.85 | 1258 15.54
No.2~No.3 20.00 1.00 | 2000 | 0.82 | 16.40 20.00
No.3~No.3+14.483 14483 | 063 9.12 079 | 11.44 9.12
N5 44.67 40.42 44.67
P 44.7 40.4 44.7
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B300xH300 | No.1+5.197~No.2 |14.803 0.30 50 0.015 0.015 0.22
B300xH300 No.2~No.3 20.000 0.30 50 0.015 0.015 0.30
B300xH300 | No.3~No0.3+14.483 | 14.483 0.30 50 0.015 0.015 0.22
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m3/10m | 0.15
BEKEEYHEAESE [25EFT | KEEK6-155#]
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BRI~ pil)=1 WY& | T LT BE
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B300xH300 | No.1+5.197~No.2 |14.803 0.51 0.56 13 1
B300xH300 No.2~No.3 20.000 0.51 0.56 18 2
B300xH300 | No.3~No0.3+14.483 | 14.483 0.51 0.56 13 1
&5t 49.3 0.51 0.56 44 4
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1 ST : 6-1454R
SHEE AR U t=40 100 | m 0.040 0.01
S ARAR t=40 391.6 | m2 0.040 15.66
NEF 15.7 0.01
25 R : 6-155 1%
SRR T t=40 00| m 0.040 0.00
SRS R AR t=40 3165 | m2 0.040 12.66
Bt (s - | 200 | m3 0106 | 4452 0106 | 4452
BEER#EEY) (EEB - EHfCo) fﬁfﬁﬁ 42.00 | m3 0.066 2.772 0.066 2.772
BEERtEEY) (LEAE) Eﬁff 8.00 [ m3 0.136 1.088 0.136 1.088
NEF 12.7 0.00 3.9 4.5 3.9 45
IS AT« Ml AR TR)IHR
SHEE AR t=30 570 m 0.030 0.04
EHEEhR AR =30 128.1 | m2 0.030 3.84
NEF 38 0.04
4SEFT : HiB AARHEIBR
SHEE AR t=50 134 | m 0.050 0.02
SHEEhR AR t=50 181.6 | m2 0.050 9.08
NEF 9.1 0.02
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SRR A | PO
BIE% B A ECAIE BIs% B A ECAIE
S5 4 AR RS R t= 4cm
Ne g =Rk EE =
0 0.000 0.000 0.00 0.00
0 13.536 13.536 5.00 0.00
1 0.000 6.464 5.00 32.32
2 0.000 20.000 5.00 100.00
3 0.000 20.000 5.00 100.00
4 0.000 20.000 5.00 100.00
4 11.861 11.861 5.00 59.31
&5t 391.63 |m2
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St by B iE t= 4cm
Ne g EHFREE EE =
0 0.000 0.000 8.83
0 2.121 2.121 5.00 14.67
1 0.000 17.879 5.00 89.40
1 5.197 5.197 5.00 25.99
3.63
2 0.000 14.803 3.67 54.03
3 0.000 20.000 3.72 73.90
3 13.811 13.811 3.55 50.20
3 14.483 0.672 3.57 2.39
3 16.274 1.791 3.56 6.38
&5t 316.96 [m2
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100 250 100
15 B g - ik =R v} it E R #H B
EH m3 0.45%0.40x1.00 0.18
BREL He+ m3 0.055+0.055%1.00 0.11
ERna RC-40 m2 INEEYFEMER L Y 0.025
Al LA m2 IMEEY AR L Y 0.60
avsy—+t 18-8-25(BB) m3 IEEY R & Y 0.045
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BB NIE m3 13.0x0.05x0.023 0.01
SRR m2 (13.0+3.4) x4.8/2+ (2.7+0.5) x1.8/2+ (2.5+0.5) x1.8/2 44.9
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